
[L]

[R]

YAMAHA YZF-R6 (’08-) 
FRAME SLIDERS
part# Y-R608FS

SOCKET HEAD M10×65mm
[SBT-M1065]

SLIDER PUCK
[SDR-L8MFJ]

COLLAR 15-10
[CLR-15-10]

WASHER M6-L
[WS-6L]

SOCKET HEAD M6×30mm
[SBT-M630]

BRACKET [L]

WASHER M8
[WS-8]

WASHER M10
[WS-10]

SPLIT WASHER M8
[SWS-8]

SOCKET HEAD M10×80mm
[SBT-M1080]

 

COLLAR 20-10
[CLR-20-10V]

 

SOCKET HEAD M8×30mm
[SBT-M630]

 

satoracing.com

SLIDER PUCK
[SDR-M10MFJ]


